AP Statistics Chapter 6 Review Answers
1. A

2. D

3. At least one is the complement of none.

P(none like the dentist) = 
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P(at least one liking going to the dentist = 1 - .958856 = .04114

4. P(A or B) = P(A) + P(B) – P(A and B)

P(A or B) = .15 + .63 – 0 (since A and B are disjoint) = .78

5. a)  P(a face card) = 12/52

b) P(not a diamond) = 39/52

c) P(a heart AND a number less than 7) = 5/52

d)  P(a heart or a number less than 7) = 28/52 (13 hearts & the 2, 3, 4, 5, 6 of diamonds, hearts & clubs)

6. P(Padres sweep) = .65 x .65 x .65 = .275
7. 1 – (.29 + .23 + .41) = .07
8.  Two events are independent if and only if…


Two events are disjoint if…
P(A and B) = P(A) x P(B)




P(A and B) = 0
P(A|B) = P(A)






A and B cannot happen simultaneously
9. Two events are complementary if P(A) + P(B) = 1
10. Make the CHART of the sums on the dice!

a) P(Sum less than 7) = 10/36

b) P(a sum that is even or greater than 10) = 20/36

c) P(Sum that is even and greater than 10) = 1/36
11. “At least one three” is the complement of “NO three’s”…this probability is easier to find.

d) P(no 3’s in 5 rolls) = 
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therefore, P(at least one 3) = 1-.402 = .598

e) P(all 6’s) =
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12.
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13. a)  P(purple) = 19/114

b) P(Male|Blue) = 23/38


c) P(Green|Female) = 4/55


d)  P(Red and Male) = 7/117


e)  P(Green or Female) = 73/114

14. Given that P(A) = .42 and P(B) = .38 and P(A|B) = .31

a. The events A and B are NOT independent since P(A|B) 
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P(A)
b. Plug into the P(A|B) formula to get .31 x .38 =

15. cannot answer the question without more information

16. a)  P(both Strawberry) = .23 x .23 = .0529

b) P(neither of the two preferring chocolate) = .58 x .58 = .3364

c)  P(no vanilla) = .65 x .65 = .4225

    P(at least one liking vanilla) = 1 – P(neither liking vanilla) = 1 - .4225 = .5775

17. a) 113/1112
b)  871/1112

c) 113/536
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